JUNIOR ANALYST IN THE DRUGS TESTING LABORATORY IN TAMIL NADU
MEDICAL SUBORDINATE SERVICE - 05/12/2023

1. Assertion [A]: Necessity is the mother of invention.
Reason [R]: Those who do not learn from the past are doomed to repeat its
mistakes

a. [A] is true but [R] is false

b. Both [A] and [R] are true and [R] is the correct explanation of [A].

c. [A] is false but [R] is true

d. Both [A] and [R] are true but [R] is not the correct explanation of [A].

e. Answer not known

@By [A]l:  CormeuBu SewBLIQLIL ST HTul.

smyewid [R]:  wnit sLbs STevsHdel(hhdH UTLID SBBIS CsmerenalsteneoBuT SIS HeuBISHn6I
WemiB Oguwiw GpHLD.

a. [A] afl gyemed [R] Heumi

b. [A], [R] &@yewiGd &, [R] erenmug [A] elesr gflwimenr afendsib.

c. [A] moum eyeomed [R] &

d. [A], [R] @yewiid &1, [R] eietiug [A] efler gflwimen allendsioaven

e. allewL  Ggflweaisdenso

2. While some predators learn to avoid eating certain potential prey because of their
coloration, other species have evolved mechanisms to imitate this coloration to avoid
being eaten, even though they themselves may not be unpleasant to eat or contain toxic
chemicals. This phenomenon is called
a. Toxicity b. Biofouling c. Mimicry

d. Adaptation e. Answer not known

fov CaulewLwnB o ulflemissl, SeuBBlear HBSHHler STTeuoTesF Fov STHHUILOTERT Sen]Tenul
2 _MiUMmSSH HalTdsd sBBISCETaTEHL. 96 GCurew wLBB, aORSET o aILMDHSH
SalTIusBaTed S06%H BHBHmHl UauBnleusBsTer  eufl(penposamend dev o ulflemiserr
o (meurddlujeiener. SmUlaid SeuBpsiL G Fev al(HUSBHITH DIGLVH HEFF ETSFTUIGTRISET
o qitenerl. @bhSH HBW eTeleuTy DIPSHSILGHMBSHI?

a. bFHHHERMLD b. 2 ulfl smmLIgH6e0 C. 10L&

d. supeued e. alenL  GaMuwailsvemev

3.  The largest organelle within a eukaryotic cell is

a. Mitochondria b. Golgi Apparatus c. Nucleus
d. Ribosome e. Answer not known

W GasMwm’ GFsvellevieen WOSLIGLIML 2 Ml

a. emiol GLmasmewor Muim b. Gsmevgd 2 miiser C. 2 I &
d. eng@urBsmbd e. allenL  Gafweaisvenso
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4.  The 68t UN General assembly declared _____ year as the international year of soils.
a. 2005 b. 2010 c. 2015 d. 2020 e. Answer not known
6861zl .BT. QUTHISGU S Senigemnel FTaulsHg 6w SLewilTed DipSlelHHlenengl.
a. 2005 b. 2010 c. 2015 d. 2020 e. alenL  GaMuwialsvemev

5. The Blue print for making ultra durable synthetic material is mimicked from
a. Lotus leaf b. Morpho butterfly c. Parrot Fish
d. Peacock feather e. Answer not known

WHAD HenevHDH HWID BT OFWBENS GUT[HOT 2 _(HeuTdHGSGHUSBHTRT S L aUDTULINB
aTHemeutll  LNesrumpsluigsl?

a. HToemJ Een60 b. wmi.".Gur Ll Lmbiy &) . dlerilbeot

d. wuledms, e. alenL  GaMuwalevemnev

6.  Which of the following is the correct order of basicity of hydride compounds?
a. NH3 < PH3z <AsHj3 < SbHj3 b. PH3 < AsH3z < NH3 < SbHj3
c. SbH3; < AsH3 < PH3 < NH3 d. SbHs < PH3 < AsH3 < NH3
e. Answer not known
Leteumeuaieuppled e1gl emamlenyh Caomiseiler &mysHHeaienwuie Fflwmer euflens
a. NH3 < PH3z <AsH3 < SbH3 b. PHs < AsHs < NHs <SbHj3
c. SbH3 < AsH3 < PH3; < NH3 d. SbH3 < PH3 < AsH3 < NHjs
e. allewL G flwealsvenso

7.  Assertion [A]: Diamond is used for cutting glass.
Reason [R]: Diamond has a high refractive index
a. Both [A] and [R] are true and [R] is the correct explanation of [A].
b. Both [A] and [R] are true but [R] is not the correct explanation of [A].
c. [A]is true but [R] is false
d. [A]is false but [R] is true
e. Answer not known
@By [A]l: saiewmgemw Geul heusBE@ eugd LWETLGHSLILBGS DS
smyewid [R]:  eveugoneig oifs gefalevssd @il el QETasi(hereng.
a. [A] wpupb [R] Byewiio o ewieno wpmid [R] seiug [A] @er gflwimer alendaib.
b. [A] wBmid [R] ByewiGd o ewiend eyeimev. [R] ereiug [A] Ser, gflwimen alendsid 16060
c. [A] 2 ewiemip syeimed [R] 2 _ewientouisven
d. [A] 2_eavienioutsdev Syemed [R] o euwtenio
e. allewL  Ggflwalsvenso

8.  The unit of electric current is )

a. volt b. mole c.candela  d.ampere e. Answer not known
LOGHTCETTL L SHSH6T DI6VE) SLGLD.
a. Gzewrleur  b. Gomed c. Gaewiloomr  d. oubiwit  e. aflen GFflwelsvensv

9. Match the following:

A. Carpotroche caceresiae 1. Guardian of the forest of EBO
B. Victoria boliviana 2. Berta coceres

C. Impatiens banen 3. Sweet potato

D. Ipomoea aequatoriensis 4. Kew’s Herbarium

A B C D
a. 2 4 1 3
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b. 1 3 4 2
C. 3 4 1 2
d 4 3 2 1
e. Answer not known

QUTHSHHIS.
A. smiCum Gyrsd BadloydGui

B. al&@Lmflwum Quredailwimet

C. ®Budluiesterd GLieest

D. . .Bumdwn oisujeun@Lmilwietdlerd
A B C D

eIGUTHT(HB6T6T LITHIBTEUEO6H
QuirLm Gsmarflerd

FTHHEM] 66T

Sy CamrGuifluid

N =

a. 2 4 1 3
b. 1 3 4 2
C. 3 4 1 2
d. 4 3 2 1

e. alowL  GgMwalsvenso

Which district has highest well irrigation in Tamilnadu?

a. Thanjavur b. Villupuram c. Coimbatore
d. Thiruvannamalai e. Answer not known

SODBHTLIQEL 61hS LOTAIL L HEHe0 SHewiBml HTILTFRIND DIFHS Slenaled o eiteng?
a. HEhFTeLT b. eflapriyyib c. Gamubysam
d. Smeuemientmioensv e. alenL Gz fweaisvensv

Choose the correct statements pertaining to ‘Sanjeevani’ project:

(i) It was implemented in Himachal Pradesh.

(i)  The project uses telemedicine and technology to provide convenient and high
quality livestock care services to farmers at their doorsteps.

(iii) It was also provided herbal based medicines to the cattle farmers.

a. Only (ii) b. Only (ii) and (iii) c. only (i) and (ii)

d. Only (i) and (iii) e. Answer not known

gehdeual S LD OFTLiturer sflwmer smBpibsamens CHTbHoeboHsaLD.

(i) Bz BurFgsell LI8HFHH0 SILOLIGHBLILIL L GI.

(i) B@5I LD OFTewev WHSHIUD WBBID OBTHOBIL LGmSL LLGILIGSHS aleusmulsense
SlaTHefen ol (B eutFelled sugFdHlwimen LOBEBILD © wiTgy Smeopenl UFTOALL Caeneusemern

QUG EBS).

(iii) Guwed, BSHHLLID cpeold SHTEUHML  UeNTUCLITBEE cpellend  &MbHS  LOHHBHISEHLD
QUPRISLILBH S BESI.

a. (ii) L @w b. (ii) @b (iii) ' Bib c. (1) pmib (ii) 1" G

d. (i) wBpIb (iii) wL G e. aflewL  Osflwalsvenev

When a recognized political party gets split up into splinter groups, the power of
recognising one such faction or group as original political party is vested with

a. Supreme Court of India b. Speaker of Lok Sabha

c. Speaker of Legislative Assembly d. Election Commission of India
e. Answer not known

ugayflewro QuUBB e oPFwed sLF U Camadysenms o UGB Gurgs g1  eh
Gamagyenw WL GWL uHeyfleno GuBB & funrs SmeSsleEd SiFsTrn wrfibd o eteng?
a. @b o FF BHHOEIBLD b. wosenemeuuicn Siemed Heweveul

c. gLLl Guremeuuien Siemeus HemeVEUT d. @pFHwg BHTeHe0 SLememTUILD

e. allewL G flwalsvenso
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Which of the following is correct with respect to inflation?

a. rise in budget deficit b. rise in demand for money

c. rise in general price index d. rise in prices of consumer goods

e. Answer not known

UenaisasHmPLl CUTBISHem] Lleteumbeuareampieo e1g Filwmeng?

a. U0l uBBTSEGMB DS b. uewmgFHBarer Chremen DB

C. QuTgl alewevd GBUTL 1960 o uliiey d. msTGeurt Gumm seflear alleney 2 wime]
e. alenL Gafweailedenso

Consider the following statements about ‘vibrant villages programme” and choose the
right option:

a. Providing funds for Flood prone villages

b. Providing relief for famine affected village

c. Providing infrastructure for earthquake prone regions

d. Developing infrastructure along northern land border of the country

e. Answer not known

“sugliurer  SgmomiseT  SHLLD” uppw  deeuwmbd  opfldemssenen  UflFeldg  gflwimest
alpLILGHms Cxitey OFuIweLD.

a. GeueTendHamed LTHSSUILBLD SHITOMISEHHE HiEH CULPMIGSH60

b. UEhFHHTEL LTHBHILUL L SFTORIBEDHHE HOUTTERID GULDEIEH60

C. BHovb(BEBD GBULSIQU LGHBEHEE 2 6ITHL LML 6UFHEBEMENT 6ULPMHIEFH60

d. priger auLdbE BHlev eeemevuicd @ 6oL L enolienl! GbLBHSHIH60

e. alowL G Mwallsvensv

____ intends to reach out to the masses and spread awareness about substance abuse
through various activities.

a. Drug Awareness Movements b. Nasha Mukt Bharat Abhiyaan

c. Narcotic Awareness d. Alcohol Awareness

e. Answer not known

_ ue0Bauml BLoUGHMBHET cpeud Cumemsll QuThHeT HeNTCwImsd LBS  eudliLeTTene
el OFSmenL W all(HLSBSH.

a. GumemsliOummer alllfiliewiTey EuidsLd b. mreagr wadh unrsh lwimes

c. Gumengll QUITmHET auPlILewTTe) d. g alPljenriey

e. allewL  Ggflwalsvenso

In the Koppen’s classification of climate As type of climate represents

a. Tropical Savana type b. Tropical monsoon type c. Tropical moist type
d. Hot desert type e. Answer not known

Gamluaiem HTeHame0 aIMELIT 1960 AS aINE GHNBIHGID HTeVH M6V 61817

a. ST FeUTEIT 6UMNS b. ower LmHaIGHTHBG aIenD C. Qw6 FIULS 6UNSD
d. Geuli LTEMEL UM e. allewL.  Gzfluialsdenso

Arrange in chronological order the milestone of the development of communication

technology in India:

1. First wireless telegraphs station established between Sagar island and Sandheads.

2. First Automatic Exchange installed in Shimla.

3. Radiotelephone system inaugurated between UK and India.

4. First satellite earth station for domestic communication established at Secunderabad
AP.

4|Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




18.

19.

20.

21.

APPE | 1)

Y RFHNTRT
SHENNAL

a.1,4,2,3 b.1,2,3,4 c.2,1,4,3

d.3,2,1,4 e. Answer not known

@hHwmaled HHaued OHTLTL OFHTHOHI LSHH6r auenTFduiler emwed HmaHelen &mev euflengFenw
aflengILBSHHNLD.

1. (Wp&H6e0 HWDLIUNL6OT FHbHF Bemeowlld FTHT HaybG Frewl Casl o0 Senl Cui MBIl L .

2. dlibsumailed (pgHev Hmeslwmig ufiomBpd Bipeuliul L&)

3. UKwspib @phdunesa el Cuw GrBuim QxmeameuBud oieniolil] SHieumisliLl L Gl.

4. o aMBTLH HH6UD OCHTLIYSSTR (PFHeo OFwBensd Gsmel Lol Heweowlld CFSbHAHTTUTS
BT TICHFHSI0 BgeulILILLS).

a.1,4,2,3 b.1,2,3,4 c.2,1,4,3
d.3,21,4 e. alewL  Gxfuweailsvemnsv

The world largest single solar power plant is located in the state of ____in India.
a. Kerala b. Karnataka c. Andhra Pradesh
d. Tamil Nadu e. Answer not known

@bFHwraled, o evdler WslOUfw @fw WagFss Beneowd DIeNLHEHIGTET LOTHIEVLD

a. Gayemm b. &iprLasm c. oupdly LIgGahgid
d. s10BT6H e. alewL  OgMwalsdensv

Which among the following is the longest river in India?

a. Ganga b. Brahmaputra c. Sindhu
d. Narmadha e. Answer not known
&6 CaTBHaLILL (BeTenareuBpleT @baHwmailer e Hemorer Sl 6157
a. &BHIENG b. yibwLg gy c. fbg)
d. mirogm e. alent. OzMNuwalsdenso
Match the following;:
A. Pesticide residues 1. Global warming
B. Nitrogen dioxide 2. Biomagnification
C. Carbondioxide 3. Blue baby syndrome
D. Nitrate in drinking water 4. Respiratory disorders
A B C D
a. 1 4 3 2
b. 4 3 2 1
C. 3 4 1 2
d. 2 4 1 3
e. Answer not known
QUTHSHHIH:
A. L&FABCHTE060 OHHSH HEFFHDH6I 1. 2 0% OEULILILDUWILDTHED
B. ooplrmen eidbemen(h 2. o _ulfwi QumeaLd
C. sniiusienL  SLEHm6r00H 3. LenGull FHer@rmd (Hevd GpHemsd CrTuISESS)
D. @upfsd enpl Gyl 4. seurg GrTUIser
A B C D
a. 1 4 3 2
b. 4 3 2 1
C. 3 4 1 2
d 2 4 1 3
e. alenL Gaflwailedenso

The Mehrauli Iron pillar is currently located in
a. Delhi b. Allahabad c. Mehrauli d. Saranath e. Answer not known
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QamBrmed @ mbLSEHmewT HBCUTSH 60 266G
a. GLeve b. seosTLITS c. GaiBymed
d. gmymrs e. alenL  GaMuwialsvemnev

Akbar appointed his Foster brother, Mirza Aziz Kokah as the Governor of

a. Bengal b. Bihar c. Kabul d. Jaunpur e. Answer not known
SIBUT Hengl (euenii) CarayT WiTem oipferd BHTohsmTenel BT DLEHBITS BWLIHSHTI.
a. eumismend b. L& C. &HML6D d. greigm e alew QFflwalebenev

Pick out the incorrect matched from the following.

a. Muhtasibs - Censor of Public Morals
b. Wagia Navis - News Reporters

c. Khufia Navis - Secret letter Writers

d. Harakarah’s - Judicial Inspector

e. Answer not known
&6 CaTBHBILL BeTeneuBpled SHeupTarauBenBsd CHTHOHBHSD.

a. (wamHTdlerd - CUTEl PUHH Hewlldbemd
b. amddwr malewd - QFuIg BlpLITH6T

c. @. Uwur peled - T SYHD 6I(LDBILIGUTHENT
d. emyrasryerd - BHHBINB  DLUICUTENIT

e. alowL  GgMwalsvenso

In 1573, Todarmal conducted his famous systematic survey of all the lands of

a. Gujarat b.Bengal  c. Bihar d. Orissa e. Answer not known

1573 &60 GamLiTLomed B0 DHHDH DIWOHFH HEORIBENETULD Heorghl LIFLIGOLOTET  [Bl6v
Slemalwed (pmpuied SienaiB CFuIHTir.

a. &™uTeh b, ewmsmend c. s d. qflar e. alenL  Gaflwailsvenev

Father Thomas Stevens, a Jesuit from Oxford, arrived in __ and remained there for
forty years.

a. Pondicherry b. Goa c. Cambay

d. Bengal e. Answer not known

urSHAwT  HTerd  ervlesueTey  SLHerOCUMTTIEL b bl BHfled BTBUSH et BaHei
SIS ITIT.

a. umentgdFGai b. Gameur c. &mbGu

d. eumisTemD e. alenL  Gafuweaisvensy

Bethvan School was established by Pandit Ishwarchandra Vidya Sagar in the year
at Calcutta.

a. 1843 b. 1845 c. 1847 d. 1849 e. Answer not known

Qugzleureir  UeTell  LewgH  FedeuT FhHAT aISUTFTEITDO _ 6wl H60BHIHTal60
BleulILL L g.

a.1843 b. 1845 c. 1847 d. 1849 e. aflenL  Ggfwaisvenso

Match the following:

A. Rashtrakutas 1. Large number of forts

B. Cholas 2. Village self-government

C. Pallavas 3. Patronage of architecture

D. Chalukyas 4. Vesata Style of Architecture
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an o
UJI\JPPP-\:>
B WL N9
=R N WA
N =W

e. Answer not known
LetTeu(heueaTeulenmLl  QILIT(HSHSHIS.

A. gTegQT gnl THe 1. oI5 elcmtenidmauieomer GHTL enL &6l
B. Gampisei 2. A0 2 6Tt HevreonmL &l
C. ueLevaUTEHGIT 3. BLLLS HMeLEE IHT6)Y
D. smensdwirsen 4. Gougym &L L &HHN6L
A B C D
a. 1 2 3 4
b. 4 1 2 3
C. 2 3 4 1
d. 3 4 1 2
e. allewL  Gafwalsvenso

The evidence of the disposal of the dead at Harappa was named as

a. Cemetery R-37 b. Cemetery S-77 c. Cemetery T-67

d. Cemetery U-87 e. Answer not known

apyluTaled  @BhoHeuTsemnel  LmSHSUULQMBHESL BLHHar  PHTTHmS 61607
QuwIfLLIUC (BelTengl.

a. sevevens R-37 b. sevevemm S-77 c. sevevens T-67

d. ssvevemp U-87 e. allenL  Gafuwalevenso

Which of the following statements are true about the Lokpal?

(i) Chairperson and members of the Lokpal are selected by a selection committee.

(i)  Not less than 50 percent of the members of the search committee shall be from
amongst the persons who belong to SC/ST, OBC, Minorities and women.

(iii)  The term of office is 3 years or 65 years of age whichever is earlier

a. (i) only b. (i) and (ii) only c. (i) and (iii) only

d. (ii) and (iii) only e. Answer not known

GeordLITemey GHMISHSHIHTe CFTBOBTLTHaMN60 ShauheuereuBmieT erenel Fiflwmerene?

(i Gourdumelest  HeweveuT wBEID 2 miilefiset @ Cayd  Gupaleimed G fey
CauwILBETBeoTT.

(i) 50 szeizpsdben Gepwrwsd SC/ST, OBC dpuneenwulerm wBBID GCLewse
S FBGwt uflFevemanid Gpaled L b GLBeL Geuemi(BLD.

(iii) Oz6r uPHalsEsTeID AP DLETBHET DIGVVHI 65 aUIB SUBBIGT 61H (LPHMSLIGHT

SIP DYGLD.
a. (i) L Bw b. (i) w@mnbd (ii) o Gid c. (1) wmmid (iii) o BLd
d. (ii) wmmib (iii) i Gid e. alewL  Gzfwalsbenso

Consider the following statements:

1. An ex-judge of the Supreme Court may act as a Supreme Court Judge again.
2. If there is a need, Supreme Court can function from any part of India.

3. Article 144 deals with advisory jurisdiction of Supreme Court.

4. Only Supreme Court can issue Habeas Corpus writ.

Which of the above statements are correct?
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a.1, 2 and 3 are correct b. 2,3 and 4 are correct c.1 and 2 are correct

d. 2 and 3 are correct e. Answer not known

SPAUIHD AUTEHE ULIBIGM6T  HaI6THHE|LD.

1. 2 &5 BAHALEBSHH (paitenTell BHHUFH ewiBld © &FF BHOSM HHUSHWTS LewfluImiBpe0TLD.
2. Bmpemeu gmULLTED, 2 FF Hawemd @bHwmaler sbHlLGHHUTHHSHID CFwLeOLL 6UTLD.
3. 2wy 144 o FFpAaIBHI G COTFMT DIHBTIHRISEN6NT MBHWITETHBSI.

4. o Osmewiiey HALICUITENeNT DIHBTID 2 FFHASBSHHHG WL BGOL 2 6wiH.

Guomanpil aUTHSWIMmIBEDH6T 6Tenel Ffluimereneu?

a. 1,2 ommib 3 gflwrerene b. 2, 3 wBmid 4 sflwreienel

c. 1 ioppd 2 gflwmerene d. 2 wBpp 3 Filwreiee

e. alenL Gafweailsdenso

Under which Act the States have the power to borrow outside India with the consent of
the centre?

a. Government of India Act, 1999 b. Government of India Act, 1919

c. Government of India Act, 1935 d. Government of India Act, 1947

e. Answer not known

Ueleubld  6bHF  FLLSHH  cpeold  LOTHew  DI&EideT  WwHHW  opFler  @lisGeorh
GeueMBThaeMLO(hHbHEH SL6T GUB (LpIQULD

a. @bHw osF UL, 1909 b. @bHu opa FLb, 1919

C. @bHw oPF FULID, 1935 d. @b ows gL, 1947

e. alowL  GgMwalsvenso

Consider the following statements:

1. As per the constitution a State Legislative assembly must sit atleast twice a year.

2. No tax can be withdrawn without the approval of the legislative assembly.

3. The five year term of legislative assembly can be extended by a Parliamentary law.

4. Legislative Assembly controls the finance of the state.

Which of the above statements are correct?

a. 2,3 and 4 are correct b.1, 2 and 4 are correct c.1,2,3 and 4 are correct

d. 1, 3 and 4 are correct e. Answer not known

BIPBHETIL.  QUTHBIBIBHENGT BT HHLD.

1. opgmwliy aldullemy @ LIHe0 FLL GBI @0h DLW GMBhHIH SHIPOB Tnl
Gouemi(BLD.

2. gL ch\aﬁlg}_aj)g%&r QULHO Be0euToed 6hS S eh euflud elevddld GameTen (LPQUITSI.

3. gL LSMHHST UHNBBTELOTET NHSH  OLeWI(BEH6T @ [BTLTEHLONIB  FLL SHAH6T  eLpevLd
BL 19 SHSLILIL 60TLD.

4. MBS HFHenw FLULIO@DBD H6iT S BHGSH6T MeUHH (HhHBHBSH.

GoBampSlweuBmIeT eTeneu &iwimerensu?

a. 2, 3 wpmib 4 sflwmereney b. 1, 2 wBpid 4 FHwmeeney
c. 1, 2, 3 wBpid 4 shlwmrerene d. 1, 3 wppd 4 sflwrerene
e. alenL Gaflweailedenso

The speaker of the Lok Sabha is the ex-officio Chairman of which of following
Parliamentary Committees?

(i) Business Advisory Committee

(i)  General Purpose Committee

(iii) Rules Committee

(iv)  Estimates Committee

a. (i) and (ii) only b. (i), (ii) and (iii) only  c. (i) and (iv) only

d. (iii) and (iv) only e. Answer not known
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o&HHememalulel FUTHTWLIST SHTeT euBHGHD UHTUTeT STTeRIOTS SDaIHLD 61HFH [HTLTEHLOGB
G(p&EBHa M HemevauTTed OFweOLIBSMTT?

(i) SleIed oLBeurFemen @ (el et

ii) Qurgl CrTaE Gpale

iii g &waier

iv)  wHNIG Gpaler

N SN N

a. (i) wmmub (ii) L G b. (i), (ii) w@mid (iii) G c. (1) B (1v) W Gb
d. (iii) wBpIb (iv) WL Gid e. aflewL  Osfwalsdenev
Match the following:
A. Art 350A 1. Mother tongue at Primary School level
B. Art 351 2. Spread and development of Hindi
C. Art 335 3. Appointments of SC and ST
D. Art 51 4. Promotion of International Peace
A B C D
a 1 2 3 4
b 4 3 2 1
c 1 4 3 2
d 2 3 4 1

e. Answer not known
SLPHEWILUBenB  CILIT(HSHHIS.

A.alg 350 A 1. &bl ueiTerl Beneudeied SHTUICWTNS BHeval
B. alg 351 2. afibd LML SFHlemenr Lgal Gosieniowlenl WF GFu1%5e60
C.alg 335 3. SC wppib ST Lifelenmad wLenfl [luied
D. ailg 51 4. gTeuCsa Siemng Gobur(®
A B C D
a. 1 2 3 4
b. 4 3 2 1
C. 1 4 3 2
d. 2 3 4 1
e. allewL  Ggfwealsvenso

The right to property was taken away as a Fundamental Rights by the 44th Amendment
Act 1978 and converted as a legal Right Under Article:

a. 300 A b. 206 A c. 200A d. 400A e. Answer not known

1978-b Suewi(h 44euzkh FLLGH FHHSHID cpevld GETHEHIMemd IhSSLILLB 6hSH DIFFIUIeVmLOLIL]
alduilenr S FUL o fMenwowins EenentsbsLILL (HeiTerngl.

a.300 A b. 206 A c. 200A d. 400A e. alenL  GaMuwalsvemev

Who said the following statement “Swaraj must spring from the wishes of the people of
India as expressed through their freely chosen representatives”?

a. Mahatma Gandhi b. B.R. Ambedkar c. Nelson Mandela

d. Jawaharlal Nehru e. Answer not known

eiTeu(hld FnBens Smpsluigl wimir?

“Gumeduild  eTeTUgl  @hHW  DHH6T  SHHATONE SHhHET LITHBH BT  cLpevDd  SHHISH6IT
BHHSHBHIHHM6N OeuellILBGHHIUSTSW .

a. LD&THIOT HMH) b. B.R. oubGugasit C. Qpe0FeT LD6WTGL 6VT

d. meuamievred Gm(H e. allenL  Gafweaisvenso

Which type of unemployment that largely exist in the agricultural sector is?
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a. Voluntary unemployment b. Involuntary unemployment
c. Structural unemployment d. Disguised unemployment
e. Answer not known

bdH aumd Geuemevuieiento Geuenment Hlempuied DIHHWOTE STl LGS BSHI?

a. almiu Geusmevuilerento b. elmiuwss Geuenevuleiento
C. oemoliy Geuemevulleirenip d. wempps Geuenevuleiento

e. alenL Gafweailsdenso

38.  Which Act empowers the Central Government to take promotional and regulatory
measures for the orderly development of industrial sector?
a. Industries Promotion and Establishment Act
b. Sick Industrial Companies Act
c. Smal Industries Services Act
d. Industries Development and Regulation Act
e. Answer not known
Camled Hiempuiler mIsTe aenTFFleE oameb@Galll] LBEBID QUYMIG LB L UG SH6NEH D6
adBds WHHW DI&FHG 6hH FLLID HSTID Dielldbdma?
a. Gamfevsmer GubUTEG WLWBBID EOSHTUET FLL LD
b. paleumLbe OFHTOe0B6T BBIeIeIhIG6T &1L 1D
c. Fposmpeoser GFemeusenr FL L Lb
d. Gsmieoser euenTsFd) WBEBID QUOBIGUP®DB FL L LD
e. alowL  GgMwalsvenso

39.  The functions of Finance Commission in India are
A. The distribution of net proceeds of taxes to be shared between the Union and States
and allocation of shares of such proceeds among the States.
B. The Principles which should govern the payment by the Union of grants in aid to the
revenue of the states.
a. (A) is correct (B) is false b. (A) is false (B) is correct
c. (A) and (B) are correct d. (A) and (B) are false

e. Answer not known

@hFHwraled B G Liewise

(A)Blay eufl  eumeuTedWw SHHW  OBBID OTH  SFHBEHSE el B LHTHe0 LOBBID
LOTHVRIBEHHESG LB SleuBPiBETe LS @dHldbsbh 0FuIHe.

(B) wmhlevhisendster wHHW opder wIelmSsT LBBID B 2 FHaldbsrear OmplesT LB

RIEMCE Y
a. (A) & (B) seumi b. (A) seumi (B) &l c. (A) wppib (B) &M
d. (A) wipiw (B) seumi e. alenL  Gzfwaisbenso

40.  What is meant by Repo rate?
a. The rate of interest charged by the RBI to commercial banks.
b. Bank rate
c. Discounting rate
d. Rationing of Credit
e. Answer not known
QruiGum al&FHld erevTIZHEET GUIT(HET 6T65Ten?
&6l eumidl euenllas amSBEHHEG MG SLEISITHT a9l GHBISHEGLD.
amg aldlHd CsTeTens
FHoiEpLy aldHHd OFHTeTenD
BLGT LIMISH

an o
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e. allewL G flwalsvenso

Consider the following statement

Blue Economy deals with

1. Raising of fish production

2. Youth to be involved in Fishery extension activities

3. Raising of honey production

4. Fishery exports to be raised

Which one of the answer is/are incorrect?

a. 3 only b.1and 2 c.land 4

d.3and 2 e. Answer not known

BB QUTHBIBIBHENGT  H6)60THBHLD.

BV QUITHEMTHITID THEIL 6T CHTLTLMLWIFH DI606V

1. 15a1 o BusHd SIHSMEHH0

2. er QaTLTYmLW GFwevseilsd Benen@ehTaemen GIFWEOLIL  m6UdFH60

3. Capar o _BusHd SFHsMHsHe0

4. Bt gpmied SiPeNBse

BB UBPle0 6151/ 6Teman Haupmeng)?

a. 3 wlEw b. 1 wBmpib 2 c. 1 wBpw 4
d.3 wsBpb 2 e. alewL Oz fwalsbensv

Which of the following is not a Maharatna Industry in India?

a. GAIL b. BHEL c. Coal India Limited

d. Airport Authority of India  e. Answer not known

SpSHHEmILuBBIeT 6% @hHwraled WET FHIT CBHTLHBIFTMD E606m60?

a. Gasuled b. Guev (BHEL) c. Cxmed @pHFAHWT aMOGLL
d. @bdw alrent CuIs&ayss @D €. alal  GFHflualsdenew

Who is the Chairperson of Niti Aayog?

a. Finance Minister b. President of India c. Prime Minister
d. RBI Governor e. Answer not known

B Curshaler HemeveuT wimr?

a. Hg SImFaT b. Guuwyagd SHmeveaut C. Myso whHHM

d. fgmen eumid seuftenrt e. alenL  Gafuweaisvensy

Who described the Hindus and Muslims as “two eyes of the beautiful bride that was
India”?

a. Sir Syed Ahmed Khan b. Sir Mancherjee Bhownaggree

c. Dr. Lal Bahadur d. Madan Mohan Malaviya

e. Answer not known

ObBHIHHEHD, (LPTOIDBEDHD “@HHWIT  61eB  DIPSWI e IO E(h HewIH6NT 6160
feafdaHaur wmi?

a. sfl ewFwsdH SQBIDS ST6T b. & weigTed GQuehTM

C. LMT&LIT 60T60 LIQBGITT d. waaBwrane wrevaiwim

e. alenL Gaflweailedenso

Arrange the launching of the following events in chronological order:
(i) The Champaran Satyagraha

(i)  The Mahad Satyagraha

(iii) The Dandi Salt Satyagraha

(iv) The Kheda Satyagraha
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a. (ii), (iii), (iv), (i) b. (iii), (ii), (i), (iv) c. (i), (iv), (ii), (iii)
d. (i), (i), (iv), (iii) e. Answer not known
Weteupld  mHlabeysemend  gflwmenr &m0 euflengliug SiewwdHas  CBTHSSLIUL (Beiern
allewLseMedmba Fllwnaremagd BHiThoSHBHBMLD.
(i) FLOLIJTET FHHWTSTHLD
(i) wad FsHuUTAFSD
ii) Sewig o UF FSHWTS SO
(iv) Gagt gsHHwundysd
a. (ii), (iii), (iv), (i) b. (iii), (ii), (i), (iv) c. (i), (iv), (ii), (iii)
d. (i), (i), (iv), (iii) e. alewL QFfwaisoensy

“What fifty thousand well-equipped soldiers could not do, the Mahatma has done - he
has brought peace. He is one-man boundary force”; who said this?

a. Louis Fischer b. Lord Halifax c. Dr. Rajendra Prasad

d. Lord Mountbatten e. Answer not known

“obugTuiy melg LWIBALCUBB UL alfTEeTed 66  GauiwipuIalsdameuCUT, OiHemest
STHOT OFUISH (PYSSHTT. SleUTMmLH MW gBUBSHMT. ST T SHeilwels LmL’ ESdHemet
Splwg wmr?

a. ul . .eleqT b. ammed. .Limdberd Ly

C. Lm&LT. @ymGmpbaly Urysmnsd d. weyew_ Gu e gy

e. alowL  GgMwalsvenso

was the select committee member who observed during Liquor prohibition debate
that prohibition was not suitable policy to be adopted in any country including India.

a. T.T. Krishnamachari b. M.C. Raja c. William Wright
d. Vaidyanathar e. Answer not known
g QUL BT  afleuTHooTansled  LmIGoILMMB aeiileuT  “@hHwm o UL 6hSH

BTLID 1% QUL C&TeTend HedL (PdBLGBHBHIAIH 6T6TIH gBLMLU CBTeTend  $I6060”
61GOI[BITIT.

a. 19.19. &H(HOJEILDTFF b. enb.d. @ymegr C. aflevsllwid emyL_

d. eeusbwimTHT e. alenL  GaMuweailsvemev

Identify the Indian who secured fourth place in Indian Civil service exam in 1920 but
resigned before completing his probation
a. Anandh Mohan Bose b. Gopal Ganesh Agarkar c¢. Subash Chandra Bose

d. Chitranjan Doss e. Answer not known

&l 1920-60 BOLOUBB GHHw Gewwll umilsh Caialed HradTauSHTE SLID LIYHHHID
Speited  LWiBd  sevld  (PRLILSBEG (PeICL  obH  GuTmIlienu  @FTedlenTion  CFUISHeUE]T
ST (BLIQHSH?

a. oephsd Corser Gumerd b. Gamumed &Cewiagd OIBTHT

C. auTay FhHHy Gumerd d. Araimeismen

e. allewL G flwalsvenso

was possibly the first Indian writer to write about Socialism and Bolshevism?
a. Manabendira Nath Roy b. Lala Lajpat Roy
c. Nalini Gupta d.S.A. Dange
e. Answer not known
__ e oCHaTE FSHTD SHHHeUbd wBpid Gumsdasaleod LB WS (PHed EbHHu
6I(LRHSTEIT  SYEUITT.
a. werGUbEy BT Jrul b. evmeom usRLIZ) MUl c. pofledl GUST
d.S.A. LmiBs e. alenL  GaMuiaisvemev
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Who was the Governor of Madras Presidency when Vellore Mutiny took place in 1806?

a. William Medows b. Sir Charles Oakeley c. William Bentinck
d. Sir George Barlow e. Answer not known

1806-60 Gougurit &Hevald BLHS CuUTH CFeTeneT LOTHTEIHH SHaUTaIITS E(HHHEUT WT?
a. alevedwib GGLmeilerd b. &t gnieverd @dsTGv

C. alevedwid GuesTgmI d. g sgnirey um@eurme

e. alenL Gafweailsdenso

Which of the following statements about the economic cause for South Indian Rebellion
are False?

(i) Taxes were raised upto 25% in Dindigul

(i)  50% of Taxes were spent for the welfare of the people
(iif)  British got loans from Kings

(iv)  There was a famine in 1798

a. (i) and (ii) are True (iii) and (iv) are false
b. (iii) and (iv) are True (i) and (ii) are false

c. (i) and (iv) are True (ii) and (iii) are false

d. (ii) and (iii) are True (i) and (iv) are false

e. Answer not known

&6 CETGHalILL L OgaalbHwl Ll dobsmer GUIHeTSHI] STTIRISN60 615 HeUDl 61aILIMND
OT(DBIB.

(i) HenBHH606060 25% IHBOTS aufl 2 WTHSLILL L F).

(i) 50% eufl wozeier BeovlsE 2 LCWTSUILGSHISILIL L .

(iii) legrT WML SL6T GCLBBEIT

(iv) 179860 OmGs &BEMLOWITEN LEhFD eBLIL L Gl

. (1) wopid (iv) & (ii) wopid (iii) Heusl
. (ii) wpmid (iii) &M (1) wBBID (1v) Heus)
e. allemL G fluwalsdenso

a

b. (iii) wmpib (iv) &M (i) wBwpid (i) seum
C i)

d

What can be said about the oral traditions that in the Tamil Society?
(i) Paan legacy
(i)  Paanar Legacy

a. (i) only b. (ii) only c. (i) and (ii)

d. None of the above e. Answer not known

SODF Fepsld CUBPHBGSWD UTWIOTS IPSHHTBIHEMET 6T6TRIGIRIID FnBeuTLD?

(i) LITGOT LD

(i)  umewrt Y

a. (i) w Bw b. (ii) wi @G0 c. (i) wppib (ii)

d. CuBsemiL gaiflsensv e. alenL  Gafweaisvenso

Fill in the blanks:

“Vetchi niraikavardhal meettal karandhaiyam vatkar melselvadu yam, utkathu
endhinoondral

a. Vanchi, Kanchi b. Thumbai, Vagai c. Nochi, Uzhignai

d. Mullai, Palai e. Answer not known

Ceoul & MHewBHAITHeO L L6O HJHdSHWLTD U STTCLM OFedeuzkl _ Wmb 2 &M 61Hmaimsd
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a. alehd, &meEhdl b. sibeL, auTemas c. Opr&Fd, o |fleneh
d. (pedemsv, LITENEL e. alenL  GaMuwialevemnev

“If does your dress does slip”. The hands do rush in to help so does ____ should be says
Thriuvalluvar.

a. Love (Anbu) b. Friendship (Natpu) c. Character (Panbu)

d. Compassion (Karunai) e. Answer not known

“o pHmd BbHalaT mBCUTEL” @Heualal HSLSHmS 61gh BUTHGHaHTEd FH([HeUeTEHeuT
Fn 31D\ OB ?

a. Sleiy b. By C. LIGHTL d. smmen  e. ol OFfwaledenev

Fill in the blanks:
Thalla vilaiyoolum thakkarum Thazhvilaa selvarum servathu
Pal kuzhuvum Paazhseyum uttpagaiyum vendhalaikkum kol kurumbum illathu

a. Nagaram, Naadu b. Naadu, Naadu c. Nagaram, Nagaram

d. Naadu, Nagaram e. Answer not known

SH6IeNT  allenenuepd HHBMHD HTpaleordF OFevaurhd GCafeug . LG UTDOFUILD
o Lumawb GCaubHemevs@l GaTed GMmIDLLD &6evevdH .

a. B&JD, BB b. BB, BTG C. B&JLD, BB

d. B1®, By e. alewL  OgMuwalsbenso

Who or what adds vitality to the fundamental worldly life?

a. King b. Paddy c. Water d. All three e. Answer not known
® V& MDHMBHG SlglienL. 2 ulliT wi? ieLevSH 6157
a. SIIFe b. Gme> c. [ d. @ewpesy e. alenL  Gafuwalsvemev

Which one of the following was educational centre(s) under the cholas?
1. Ennayiram
2. Thirubhuvanam

3. Thirumukkudal
4. Thiruvetriyur

a.1, 2 only b. 2,3 only c. 4 only

d. All the above e. Answer not known
sSLpau(heuaTaUBmIeT 6Temer BFTPTH6T HTELHFH60 Heva]l MOWILTES HBWHHH!?
1. eTewTeuoImUITLD

2. FHmyeuetd

3. FHmHpdHanL 60

4. FmOeurmpsluyfT

a.1, 2w’ @b b.2,3 wl G C. 4 L @B
d. GuBammiu SiemeTHEID e. alenL  GaMuwiaisvemev

Name the text which is also called as scripture of Agriculture (Velaan Vedam).

a. Thirukadugam b. Elaathi c. Iniyavai Narpathu
d. Naladiyar e. Answer not known

Gouenmemt Goupld 6160TM DIGHIDHSLILIBLD HITED

a. FilaBasbd b. geord) C. @awemel BIBLSI
d. mrevigumit e. alenL  GaMuwailsvemev

According to Thiruvalluvar when does one’s body not require medicines?
a. By eating limited food
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b. By eating cooked food only

c. By eating food that your body accepts

d. By eating only after proper digestion of food

e. Answer not known

FHmeusiEnauT TLOLTISH WTHMBDHES (HHS 6IaiLH CHemaulILiheudle0emen 616sh FnyISBTT?
A. SOTUTH 2 _6WTLT6D b. FMDHSH! 2 GUIL 6V

C. 2 LQUHE gmUMLWSI 2 6wl TeL d. smphduzs BBSH 26w Ted

e. alenL Gafweailsdenso

Which novel by Indira Parthasarathy was based on the Venmani incident?

a. Kaala Vellam b. Pulliya Marathin Kathai c. Nithiya Kanni
d. Kuruthipunal e. Answer not known

Gleuemtioeml MHlspeney MLWILILGSHSH Gevefloubd @HHIT UTTHSFTIHUleT LD 61?7

a. &mev Oleweiterd b. yeflw wrsHer sms C. HHFHW Heiienn

d. emdiyered e. alenL  Gafuweailsvemnsv

___ organized the Madras Youth League, a Pro-congress Organisation.

a. M. Mohamed Aysha Gani b. K. Angachiammal

c. Krishnabhai Nimbkar d. T.V. Janaki Ammal

e. Answer not known

STRSTD SMUILIBE FTHHILTE CFWELLL LDSHITerd EeN6NEhT GHLME QHRISMDSHDHH .
a. M. (wpamibing ouiagr el b. K. gmsdl oubomel

C. B (magewormumul ML d. T.V. sgrendd sybiomelt

e. alowL G flwalsvensn

E.V.R Periyar started Dravida Kazhagam in

a. 1944 b. 1945 c. 1947 d. 1951 e. Answer not known
F.Cougm QuilwmT gyrelL swWsHmSH HlousHul Siewilh
a. 1944 b. 1945 c. 1947 d. 1951 e. alewL  Gxfuwailsdenso

Who took measure to discontinue the teaching of Hindi in Government schools in Tamil
Nadu?

a. C.N. Annadurai b. Ms. J. Jayalalithaa c. M. Karunanidhi

d. M.G. Ramachandran e. Answer not known

SODHTL 6T oiFa UeTefaeflsd @bd sBUSslILBMmS CHTLITOED SHULSBES BL6UQHmPb
dBSHHH wiit?

a. &l.eT6r. S|euT6mITHIEN] b. Ggeval. G3. GguievelHT C. (Ip. HHEWIMHIH

d. enb.88. @ymoFanHa e e. allenL  Gafweaisvensv

Which one of the following statements is/are correct regarding Adichanallur
Excavation?

(1) Adichanallur locates in Tirunelveli District.

(2) Robert Bruce Foote made excavation in Adichanallur.

(3) The iron spear and bronze cock flag found in Adichanallur.

(4) The gold lids found in Adichanallur.

a. 1 only b. 2 only c. (1), (2), (3) only

d. (1), (2), (3), (4) e. Answer not known

B EFFHEOQITT OFHTELELT[HET SUleYHeT GBISHS FaBmIGeTled ST SaBml 61517

1. FHFFHONT H(HOHELEAIT LOTeUL L HSHeL SiemIDhHSH 26T HLGLD.

2. gmUTL Yeherd .. eTedleuT SLSFFHeLeUTTe0 QHTed GUIT(HeT U160 H6NT L GEHeurTiT.
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3. L HFFHEONT OHTeLOUMHET HTHIBH6MNeL @mbumeordll  Gougd  GleUeTTEHE0SHSHTELTSHIWI
Groul GamQuUID SHTewidh HlewL HBBSI.
4. o FHFFHeoTTeL CUTETEITED OLeT GUTUI CLPIQSH6T SIS &ML a5 IBe.

a. 1w’ @ b. 2 L B c. (1), (2), (3) w B
d. (1), (2), (3), (4) e. alewL OgMwalsdensv
65.  The Book entitled Chatur Dandi Prakasika was written by ____.
a. Venkata Mukhi b. Shama Sastriyar c. Muthusamy Dikshitar
d. Vedanayakam Pillai e. Answer not known
FHT FHewiyg LITaT ST 613 [HITeD6L 6eIIpHUIeUT .
a. GamasL (P b. gmor grervdflmeit C. (PHHIFTH H AT
d. Geumpruwisd eliener e. allewL  Gaflwalsvenso

66.  Who introduced cradle baby scheme?

a. Arignar Anna b. M.G. Ramachandran c. M. Karunanithi
d. J. Jayalalithaa e. Answer not known
CBTLIge0 GHWhHnSHSH FHLLHmS DB(psiLBSHHWeuT wmi?
a. OIBEHT. SiewrevnT b. enb.ed. gmosghIyest C. (Ip. HHMIMHH
d. 0.0muevelsT e. alewL Gxpfuweailsdensy

67.  The first committee report submitted for an integrated approach to health services is

a. Mukerji Committee b. Sir. C.V. Raman Committee

c. Sir John Marshall Committee d. Sir Joseph Bhore Committee

e. Answer not known

GaTHT ComeusEhdHsTal  QRUHRIHMMIHSH DMUSGHPMBEGHF FTUINSSLILLL  (PH60  G(D
ONHmD ____ LGLD.

a. (a1l G b. &1 d.ail. gmosr & C. . £Mell IOMTOP6D G
d. g Gera ..GumT G e. alenL  Gafuweailsvensy

68.  According to NSDP, 2019-20, Tamilnadu occupied rank in per capita income.

a. Third b. Fourth c. Fifth d. Sixth e. Answer not known
NSDP 2019-2020 et 1ng, s10mpr6G sefbu aumomarshded _ Hyauflovgulsd o eeng).
a. CLPETIBITeUS] b. BraisTaIgE C. QYHSHTUGI

d. sypreus e. alewL O Muwelsvemen

69. The Central Leather Research Institute is located in

a. Dindigul b. Vellore c. Erode
d. Chennai e. Answer not known
wHHW Bxpmed SITUIFS Hpeuetd Smig SiemobhleTend)?
a. HWIBDHBH6eD b. Geaugurrit c. wGym(
d. Qseener e. alenL  GaMuwailsvemev

70.  The main objective of Krishi Shramik Samajik Suraksha Yojanais .
a. To give social security benefit to agricultural labourers on hire in the age group of
18 to 60 years.
b. To ensure availability of appropriate quality of food grains.
c. To give educational allowance of Rs. 100 per month to each child of parents living
below poverty line.
d. To give advance loans to the poor at very low rate of interest.
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e. Answer not known

siflag eogmild Fomedld ggoHam Cumegerm aler (WhaHuw GrréHsld .

a. 18 wamev 60 suwHBGLULL Geuenment CHTIHGOTONTHEHHGHEF FepdLll LUTHISTUL DML
b. Gungioter Sieney 2 _awie HTalw S@HloL 2 mis CFuiaIg.

C. auBIMWECHTLIYBEGHS S aumbLafar GHWhHmHHEHHE TS eh. 100 HeLal Lg 6UDHIGMS.
d. gowsensd Wad GoBHIaI 1QUTed HL 6T (LPETLIGRID 6IDHIGHIH.

e. alenL Gafweailsdenso

Choose the wrong statement:

Services of Integrated Child Development Scheme (ICDS) includes:

(i) To improve the nutritional and health status of children in the age group 0-6 years.
(i)  To improve that health, nutrition and education of the target community.

(iii) Prevention of gender biased sex selective elimination.

a. (i) and (ii) only b. (ii) and (iii) only c. (i) only

d. (iii) only e. Answer not known

SHaupTen SBismBmd CHTHOHBHHALD.

QHRIBMEHS GHWHewSHH6T GbUT (hdh HLLSHHe CFemeuser SiLmiGe6uer

(i) 0-6 UWFHIBGL L L GHDHHEMNT 261l | FFHa! OBRID SHHTHTT BHenevenul GobLBSHSH60.
(i) der smdw gFeps osefllen SEHTHIWL, 2ol L FFHH WBHBID Sevalamt GDLIBSHSH60.
(iii)  wmeden gmiyl LTTeDeULL 6T GUIULILL LIBBIL LUTelaTSHmaL! LIBhHS6TEheUmBSH HBHSH60

a. (i) wspib (ii) wL Gw b. (ii) wmmitd (iii) oL BLd c. (i) L (B

d. (iii) oL (Bw e. allen Oz fuaisoenso

Assertion [A]: The Information and Communication Technology Academy of
Tamilnadu (ICTACT) launched.

Reason [R]: Helps to conduct training programme for only industries.

a. [A] is true but [R] is false b. [R] is the exact explanation for [A]

c. Both [A] and [R] are true d. Both [A] and [R] are false

e. Answer not known

amu [A]: SOUPHTLIQET  HBeued  LOBEID  HHBeued  GOFHTLTY  QFHTMPeomI L OismLLil.
(0.8l.19.61.8.19) QOFHTLMISLILIL L .

amyewid [R]:  Gsmievsend@ w60 LWiBHdH HLHmE BLHS 2 HaHMBE.

a. [A] o_ewienio syemmed [R] seum b. [R] [A] eys@ aflwmer elendasid

c. [A] wBmib [R] BrewiGo 2 ewienio d. [A] wBpid [R] BrewiGd Heum

e. allewL  Ggflwalsvenso

Which of the following is/are true with reference to Pradhan Mantri Garib Kalyan

package insurance scheme for health workers fighting Covid 19?

(i) To provide an insurance cover of Rs. 20 lakhs for 90 days to total of around 22.12
lakh Public Health Care Providers.

(ii) Includes Community Health workers who may have to be in direct contact and
care of Covid 19 Patients and who may be at risk of being impacted by this.

a. (i) only b. (ii) only c. Both (i) and (ii)

d. Neither (i) nor (ii) e. Answer not known

Covid 19 adigant GumynBd &&THMIL LewlwmenTaehobater Lysme whdAf &l seouwimes

CusCagy @EIGTaEN FHI L HHl0 LlsaumelaeuBmled 6% 2 auenLouiTeng?

(i) QTP 22.12 LFD QUITH &HSTHTIL UTHSTUUTENHESG 90 BT SEHSES . 20
L FID STUT. B OBHTENHMUI  GULDHIFHFH60.

(ii) Gamailll 19 Crrwmeisefer Ghrigdh OFHTLTL wBMILD uFTRiTed Bmeds Gouswngul Feps
SHTHTIL LewiWLTeMTHEHD BHH L SHHe0 GFToHsLILIBEUT.
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a. (i) L Bw b. (ii) o (Bib c. (i) wppid (ii) ByemiGLD

d. (i) wBpIb (i) Ssvensv e. alewL QFfwaisoensv

In world network of biosphere reserves and of Tamilnadu have been included
to protect the flora and fauna.

a. Great Nicobar and The Nilgiris b. Gulf of Mannar and The Nilgiris

c. Gulf of Mannar and Agasthyamalai d. Great Nicobar and Agasthyamalai

e. Answer not known

2 v o UlTEBasmen @MUY  IMEVHNMHHD  HLOLDHTL Q60T LoBmILD R

alleuRIFS@IBIBMETL LUTHIETHD GFTHSLILL (HeTenH.
a. Quflw H&EGsmumT WwBLID Heodifl

b. et auemen@GLT WBHID Hevad

C. LDGUTEITT GUEMETEGLT LOBBID DIHENVHUILDENEV

d. Quilw BEGHTUMT BBID DIBEOH IOV

e. alowL  GgMwalsvenso

Main aim of Tamil Nadu village Habitations Improvement Scheme

a. Provide Electricity

b. Provide drinking water facility

c. Provide minimum basic requirement infrastructure facilities to the inhabitants
d. Overcome the uneven distribution of resources

e. Answer not known

SWOIPHTH Sgmoliys eumpal (weCaiBs FHLSHHler Chpemeuwimer GnleCsmelt ereire?
a. LTFMID 6ULPMIGSH60

b. @uHT aIpEIES6

C. UMD LI60ITHA(HDBE GSMBHILULEF SIQLILIeDL. SL LML UFHH6IT  QULDMHIEG H60.
d. @umsss wepuieorer alefGuims (emew SLbHEH alHH

e. allewL  Ggflweailsvenso

In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each successive
row contains two additional seats than its front row. How many seats are there in the last
row?

a.76 b. 78 c. 80 d. 82 e. Answer not known

Q@ Fefor Smdar (WwHed auflemgulsd 20 BmEmdBHEnHDd CTHFSD 30 auflenFsEnd o eiermer.

SbHSBHH @t aflensuiad SIHBEG WhHodw aflmgmw ol @Teuih EHoHmBHDH6I
FBHVTEH 2 eener. HMLF auflewguied e1HHemenr B(HHmBH6T E(HBHGW?

a.76 b. 78 c. 80 d. 82 e. alewL Oz fwalsbensv

If13+23+33+....+n3=8281, thenfind1+2 +3 +.... +n.

a. 91 b. 81 c. 901 d. 93 e. Answer not known
1B3+25+33+....+n? =828l aialled 1 +2+ 3 +.... +n Qa1 HI] HT6wIeH.
a. 91 b. 81 c. 901 d. 93 e. alenL  GaMuwalevemev

Find the next term in the below Alpha Numeric Series.

ZIA, X2D, V6G, T21], R88M, P445P,?

a.N 2676 S b. N 2676 T c. T2670 N

d. T2676 N e. Answer not known

&6 CBETHHBUILL (BT SI60. LT 6Tewioeni(peHH OHTLAET DIbHaH B o mIlenLd HTEwS.
ZIA, X2D, V6G, T21], R88M, P445P,?

a. N 2676 S b. N 2676 T c. T2670 N
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d. T2676 N e. alenL  GaMuwiailsvemev

J27, K4X, 17V, , H16R, M22P Find the missing term

a.l11T b.L11S c.L12T d.L11T e. Answer not known
J27, K4X, 17V, , H16R, M22P alGul Leneuenuid STemiss.

a.l11T b.L11S c.L12T d.L11T e. alenL  OsMuwalebensv

Two unbiased dice are rolled once. How many possible outcomes for getting a doublet
(equal numbers on both dice)?

a.6 b. 12 c. 36 d. 18 e. Answer not known

Breni® FImer USML 6T (pempwtd @61 GhrHHled o (HlL LGS amer. Syeni(h LS H6Med
@681 (WaWHIY S SGWD UTUILILEHET 615H3HN60?

a.6 b.12 c. 36 d. 18 e. alenL  GaMuwalsvemev

In a March past, seven persons are standing in a row. Q is standing left to R but right to
P. O is standing right to N and left to P. Similarly, S is standing right to R and left to T.
Find out who is standing in the middle?

a.P b.Q c.R d.O e. Answer not known

@ sefleugliied @ euflngulsd 7 Gur PiBdpriser. Q syemeul R &@ SLlypworsean P &@
auevLiporaa|b BBAmBTT. O geeu N &@ sueoliyponsad P &@ @ lysrsead ®BBamp.
Beueun@n S grereuT R @ eusvliyponasa)d T @& GLliyprsab HBaBTT. oibhg  euflenauier
BGaled mBueuT wimr?

a. P b.Q c.R d.O e. aleowL Oz fwalsbensv

A can do a piece of work in 12 hours, B and C can do it 3 hours whereas A and C can do
it in 6 hours. How long will B alone take to do the same work?

a. 6 hours b. 12 hours c. 4 hours

d. 10 hours e. Answer not known

A areuaum @n Geusmevenuwt 12 wewll CrrHHe0 wpliuni. B woBmib C orbg Gsuensvsnut 3 Loewf
GrrsHFHeid, A pmib C orbg Gausmevenw 6 WaGHISHHeId GFwig wWiglimT. i85 Geuemevenul
B safGuw ereieuene) GprsHslev (wpigliimi?

a. 6 el GrrHdHed b. 12 wewil GErsHHed C. 4 wenl GByHHe0

d. 10 wenl GpysHaew e. alenL  GaMuweailsvemev

10 Farmers can plough a field in 21 days. Find the number of days reduced if 14 farmers
ploughed the same field?

a.6 b.7 c.8 d.9 e. Answer not known

10 aleugnuiser 21 BHIL&660, @h HeHme 2 (1p& (PY&HPBBTTHeT seled DI6H HevdHma 14
aleugmuil®ell e1HHMmeN BT &6 (PTeTHTH 2 (pHl (WIQLILT?

a.6 b.7 c.8 d.9 e. alenL  GaMuwalevemev

The total surface area of a hemi-sphere is how much times the square of its radius?

a. m b.4xn c.3n d2n e. Answer not known
R Slewrsh CamendFHer GTHHILTIL DISHET SLTHI DDLUl 6UTSHHHH 60T DL MBISTGLD.
a. m b.4n c.3n d2=n e. alewL Oz fwalsbensv

If the radius of the base of a cone tripled and the height is doubled, then the volume of
the cone increases

a. 6 times b. 12 times c. 18 times

d. 24 times e. Answer not known
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QRUH SnlDLleT SIQUILB SLTID (DD RISTHAD SIGHT 2 WFD @Jeni(h L HBISTHD  LOTSIeTeL
OIS ST D66 DL MISTSH LOTHILD.

a. 6 ILRHIEG b. 12 wLmE c. 18 LMBIE

d. 24 wLmig e. alenL  GaMuwialsvemnev

The compound interest on Rs. 20,000 at 15% per annum for 2% years

a. Rs. 7272.50 b. Rs. 7722.50 c. Rs. 7772.50

d. Rs. 7777.70 e. Answer not known

Rs. 20,0008@ 15% spewip ey aissHHBE 2§ LT(HBEDHEHEG Fnl (B Ul lg I SHT6wT.
a. Rs. 7272.50 b. Rs. 7722.50 c. Rs. 7772.50

d. Rs. 7777.70 e. alewL  Oafwalsbensv

A principal amounts to Rs. 2028/- in 2 years with 4% P.A. compounded annually. Then
the principal is

a. Rs. 1875 b. Rs. 1612 c. Rs. 1800

d. Rs. 1825 e. Answer not known

P SFeTaH 2 SLWIHH6Med, eBHES 4% gl B euliguied Rs.2028/- eudmpg erafled, Sibs
SIFTOIH .

a. Rs. 1875 b. Rs. 1612 c. Rs. 1800

d. Rs. 1825 e. alenL  Gafuailsvemev

In how much time will the Simple Interest on Rs. 3,000 at the rate of 8% per annum be
the same as simple interest on Rs. 4,000 at 12% per annum for 4 years?

a. 2 years b. 8 years c. 4 years

d. 6 years e. Answer not known

Rs. 3,000 9i5a05@& WGBS 8% eter  eupmslL@GD. Hefl el lgwimerg Rs. 4,000 oiFansh@
WBHG 12% etenr 4 SLEIBBEHHESG QUPBIBLILGD ST QI 195G BEHITGID STV 66567

a. 2 QU(HLMBIGGIT b. 8 eu(BLBisel C. 4 QUL BIB6IT

d. 6 aumLmIH6T e. alenL  Gafuweaisvensy

Basha borrowed Rs. 8,500 from a bank at a particular rate of Simple Interest. After 3 years
he paid Rs. 11,050 to settle his debt. At what rate of interest he borrowed the money?

a. 10% b. 8% c.11% d. 9% e. Answer not known

UTL QT eTeileuT e(h eumSuleldBbhal @ GUIUULL SHelally aissHdled h. 8,500 SHL6IMHL
QuUBBITT. cpeiiyl DYETBH6T BHWHH DeuT h. 11,050 MF CFaISHSH ST DML ST 61660
Ay aisb?

a.10% b. 8% c.11% d. 9% e. alenL  GaMuwalsvemev

If a principal is getting doubled after 4 years, then rate of interest is

a. 10% b.15% c.20% d. 25% e. Answer not known
QT SiFeuned 4 SLemiBHelled 2 WLRSTHBS 6leafled, aully aigHld
a. 10% b.15% c.20% d. 25% e. alewL Oz fwalsbensv

x varies inversely as twice of y. Also when y = 6, the value of x is 4. When y=8, then the
value of x is

a.2 b.3 c.b d.6 e. Answer not known

X Qi Y & @OLLBGLET afhT aldsd GHTLALmLWE. Goaibd y =6 eeafed X 6 L
4. y = 8 aiafled, X &1 LOFIIL

a.2 b.3 c.5 d.6 e. aleowL Oz fwalsbensv
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If4a=5band 7b=9cthena:b:cis

a.28:36:45 b. 36:28:45 c.44:33:28
d.45:36:28 e. Answer not known

4a =5b wpmib 7b=9c eefled a:b:c

a.28:36:45 b. 36:28:45 c.44:33:28
d.45:36:28 e. alewL  Oafwalsbensv

If 7 : 5 is in proportion to x : 25, then ‘X" is .

a. 27 b. 49 c. 35 d. 14 e. Answer not known
7:5 g X :25, @ aldaFFwhd eeafed X @6 WA SHTNIH.
a. 27 b. 49 c. 35 d.14 e. alenL  GaMuwalsvemev

Find the largest number which divides 1230 and 1926 leaving remainder 12 in each case
a.6 b. 174 c. 522 d. 6969 e. Answer not known

1230 wBpd 1926 B elaiEmen  aGHGSWLOUTEH B8 12 m& HIddmigul  OSLGLMW
GTGUTENGNID  EHIT6u0I .

a.6 b.174 c. 522 d. 6969 e. alenL  Gafweaisvensy
Find the LCM of p2-3p + 2, p2 -4

a.(P-1) b. (P-2) c. (P+2)

d. (P-1)(P-2)(P+2) e. Answer not known

B.8.0 srews p?-3p+2,p2-4

a.(P-1) b. (P-2) c.(P+2)

d. (P-1)(P-2)(P+2) e. alenL  Gafuiailsvemev

LCM of two numbers is 180. Then, which of the following is not the HCF of the numbers?
a. 45 b. 60 c.75 d. 90 e. Answer not known

Om eremideien WFFM WLMIG 180 erefled, S(peTemeuBBIeT 61H DbDH elewiderent L5.GILIT.6.
HTHI?

a. 45 b. 60 c.75 d. 90 e. alewL OgMuwalsdensv

Find the HCF of the numbers 18, 24 and 30.

a.3 b. 4 c.5 d.6 e. Answer not known
18, 24 1oppid 30 Fwl eTewiseen L5.CLUT.6l. HT6wIH.
a.3 b. 4 c.5 d. 6 e. alew OgMuwalsbensv

270 candidates appeared for an examination, of which 252 passed. What is the pass
percentage?
a. 80§% b. 83&% c. 93%% d. 98&% e. Answer not known

CxalBg ealewienitiss 270 pUTHale, 252 FUTH6T CHTedl SiemLbHerT eleie, CaiTdd
FHBLD 616016017

a. 802% b. 83:% c. 93:% d. 982% e. allenl Ggfiwalsbaneo

Use BIDMAS and put the correct operator in the box for
2006-12+4+2)=10
a.+ b. - c. X d. + e. Answer not known
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BIDMAS enwilt uweiuGsHs silwmer @Guluil enld &L SH60 BIliys.
20J6-12+4+2)=10
a.+ b. - C. % d. + e. alewL  Ogfwalsbensv

A fruit-seller bought some mangoes of which 10% were rotten. He sold 46%% of the rest.

If he still has 192 mangoes. Find the total number of mangoes, originally bought by him.
a. 375 b. 425 c. 400 d. 450 e. Answer not known

® up elwrurf e eummdw wmbupmiseaisd 10% s el Ler. sa@lLBhs B
LOMLDLILPBISH61T60 46;% upkisemer alppiel L e 192  wwmbupkiseT 10ehdler eTeled  SielT
QUMTRISIW OLDTSHES LOTDLILDMISET 616161616 ?

a. 375 b. 425 c. 400 d. 450 e. allewL Oz fwalsvensv
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